| Efficiency vs Dxy |
1.2

efficiency vs dxy
o
% =
| |
H

o
o))
[

o
~
[

..............................

o
[N)
I

Ratio
[N +
i_\I TT ID

TTTT[TTTT]
[ 3
-

1

0B 5615510 =5 0 5 10 15 20 25

TP dxy (cm)

—=— DQM_TT origimat -
—— D§M_ﬂ_mod xmodels_truthfinal_modelTEST-29

| Efficiency vs Dz | ——D mod_xmodels_truthfinal_reg_modelTEST-27

—— D mod_xmodels_truthallhits_modelTEST-29
1.2 —— D —mod~xmodels—truthallhits“reg_model TEST-25

efficiency vs dz
=
!
@

. S S S
Y S S S —

el

(PLRRNS TN S T —

Ratio

10 20 30
TP dz (cm)



	Contents
	Page 1


